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QUESTION 1

Which options are available to edit bar charts? (Choose three.) 

A. Changing patterns displayed in bars 

B. Changing the major increment on the Y axis scale 

C. Displaying data value labels 

D. Changing the variable displayed on the X axis 

Correct Answer: ABC 

 

QUESTION 2

The text file shown in the figure below is an example of a fixed format text file. 

A. True 
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B. False 

Correct Answer: B 

 

QUESTION 3

Which statement is the correct interpretation of this crosstab table? 

A. 56.5% of females believe in life after death. 

B. 86.0% of females believe in life after death. 

C. 27.5% of females believe in life after death. 

D. 53.7% of females believe in life after death. 

Correct Answer: B 

 

QUESTION 4

With IBM SPSS Statistics you can assign one of three levels of measurement to a variable. Which is the correct list of all
three levels? 

A. Nominal - Ordinal - Interval 

B. Categorical - Interval - Ratio 

C. Nominal - Ordinal - Scale 

D. Nominal - Interval ?Scale 
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Correct Answer: C 

 

QUESTION 5

In the Variable View, if you have a series of variables that share the same category coding scheme, you can enter value
labels for one variable, then copy these labels to the other variables. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 6

After studying the figure below1 select the correct statement. 

A. Gss93.sav is the dataset name. 

B. DataSet2 is the dataset name. 

C. DataSet2 is the file name. 

D. DataSet2 is both the file and dataset name. 

Correct Answer: B 

 

Latest C2090-011 Dumps | C2090-011 PDF Dumps | C2090-011 Study Guide                                4 / 6

https://www.passapply.com/c2090-011.html
https://www.passapply.com/c2090-011.html
https://www.passapply.com/c2090-011.html


https://www.passapply.com/c2090-011.html
2024 Latest passapply C2090-011 PDF and VCE dumps Download

QUESTION 7

There are two major types of errors one can make when attempting to draw conclusions about the larger population
based on the information collected in the sample. For example, when performing an Independent Samples T-Test, one
type of error that can occur is when there are significant differences between the groups based on a scale level
dependent variable, but the test fails to detect them. Which of the following choices describe this sort of error? (Choose
two.) 

A. Type i error 

B. Type ii error 

C. False negative 

D. False positive 

Correct Answer: BC 

 

QUESTION 8

Which statement is true about this box plot? 
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A. Themean is 14. 

B. The standard deviation is 14 (20 minus 6). 

C. The standard deviation is4 (16 minus 12). 

D. of the outliers are on the lower end of the distribution. 

Correct Answer: D 

 

QUESTION 9

Which chart type is appropriate for viewing the association between two scale variables? 

A. Bar chart 

B. Area chart 

C. Pie chart 

D. Scatter plot 

Correct Answer: D 

 

QUESTION 10

In the Aggregate data procedure1 if you specify more than one Break Variable, ________ in the Break Variables list will
determine case order. 

A. Variable size 

B. Variable label 

C. Variable name 

D. Variable order 

Correct Answer: D 

Latest C2090-011 Dumps C2090-011 PDF Dumps C2090-011 Study Guide

Powered by TCPDF (www.tcpdf.org)

Latest C2090-011 Dumps | C2090-011 PDF Dumps | C2090-011 Study Guide                                6 / 6

https://www.passapply.com/c2090-011.html
https://www.passapply.com/c2090-011.html
https://www.passapply.com/c2090-011.html
http://www.tcpdf.org
https://www.passapply.com/c2090-011.html
https://www.passapply.com/c2090-011.html
https://www.passapply.com/c2090-011.html

